resoloo
Poulbding The Fltore

Sanitation resoloo MARK 11 VIP
1135 X 900 X 1900

Assembly of the Resoloo MARK Il VIP 1135 X900 X 1900 is a quick and easy task and should
take no more than 15 minutes, provided that the surface on which the installation is taking place

Please follow the steps provided for easy installation

Visit our web-site at www.resocrete.co.za

Copyright - all information contained in this document is copyright and is the property of Resocrete




resoloo MARK 11 VIP
1135 X 900 X 1900

o WW 7‘/"& fMM&

The resoloo MARK 11 VIP 1135 x 900 x 1900 is assembled by aligning the locator dowels fitted to the bottom of each wall
panelinto the holes provided forin the Lightweight Base.

Polyurethane is then applied to all wall, base and roof interfaces.

Receiving brackets are be fitted to the Lightweight Base and Roof with the fixings provided and either a reseloo door or Plastic
Injection moulded door is fitted into the receiving brackets.

A Dual Operational Slide Latch is bolted into place with the fixings provided and a Latch Cover plate is then fixed into place using
double sided tape fixed to the back of the Latch Cover Plate, thereby covering the Slide Latch fixings.

A ventilation pipe is fitted to the back wall of the toilet by locating it into the hole provided in the Lightweight Base and fixed to the
holding bracket with the fixings provided.

An optional Tip-Tap can also be fitted to the side wall as provided

First, read through these instructions carefully from beginning to end, identifying which parts are which, and checking that you
have all of the components listed below for the assembly, namely:

STRUCTURE COMPONENTS LATCH COMPONENTS

1 Back Wall Panel 1 Dual Operation slide latch

1 Side Wall Panel - Left 1 Slide Latch Cover Plate

1 Side Wall Panel - Right FIXINGS

1 Door 4 M5 X 20mm Galvanized CSK Machine Screws
1 Lightweight Base 4 M5 Galvanized Hex Head Nuts
1 Toilet Pedestal 4 M5 Galvanised Washers
FIXINGS

1 Sodal Structural Polyurethane Polony

2 M8 Galvanized Hex Head coach screws

2 M8 Galvanized Washers

BREATHER PIPE WITH FLY TRAP_ o
o  BACK WALL

SIDE WALL LEFT,
N\

 SIDE WALL RIGHT
ROOF
~_— TOILET PEDESTAL
; _DOOR
DOOR RECEIVING BRACKETS.
—_ LIGHTWEIGHT BASE
__SLIDE LATCH

resoloo MARK Il VIP 1135 x 900 x 1900 Component Assembly




resoloo MARK 11 VIP w
1135 X 900 X 1900

Wow&émg The fufu/b&

1040

i

——1280—

i 1135 1900

poj Sl

‘ 1200 1500

ISOMETRIC ELEVATION VIEW

ISOMETRIC PLAN VIEW



resoloo MARK 11 VIP
1135 X 900 X 1900

Powlding The Fiure

Fa b .V F i T8 L ;
T D i S e B L
w’?ﬁ - b:'v_‘ e 1y 4 i = ;ﬁmﬁ- -
If using the structure for a VIP Pit Latrine, align the
Lightweight VIP Base over the pit, ensuring that the base is
straight and level. Also at this point, attach the receiving
bracket for the door to the base in the holes provided.

SEAARER

Locate the back wall into place by aligning the locator dowels
protruding out the bottom of the wall with the holes in the
Light Weight Base

Locate the Side Wall into place by aligning the locator dowels
protruding out the bottom of the wall with the holes in the
Light Weight Base

L% !

Similarly, locate the back wall into place by aligning the
locator dowels protruding out the bottom of the wall with the
holes in the Light Weight Base

hi) . pE

Apply a bead of Structural Polyurethane into each locator

dowel hole and along all areas where walls interface with

each other or the Base. Now fit the two wall braces across
the back wall, holding the side walls in place.

Locate the roof into place aligning with the roof locator rods.




resoloo MARK 11 vIP
1135 X 900 X 1900

L : B e e e

Locate the door into the receiving bracket fitted to the base

and roof. Now apply a bead of Structural Polyurethane along
all areas where walls interface with the roof

b

R £ O e ¥

If using the plastic injection moulded door, locate the lugs

provided into the receiving bracket fitted to the base and roof.

Now apply a bead of Structural Polyurethane along all areas
where walls interface with the roof

Locate breather pipe into socket in Base and fix in place using
the holder bracket providede

il

Note that the Dual Operational Slide latch mechanism is inside
the unit to avoid tampering.

If using, locate the Tip-Tap Hand Washing Unit holder bracket
into place using the fixings provided and insert a 2 litre water
bottle into place

Locate toilet pedestal into the receiving bracket provided




resoloo MARK 11 vIP
1135 X 900 X 1900

Powlding The Fiure

Locate the Dual Operation Slide Latch through the opening
on the door and fix into place using 4 x M5 countersunk
machine screws provided.

resocrete

0861377703

Lastly remove the backing from the tape on the back of the
Slide Latch Cover Plate and fix into place over fixings.




	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6

